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Directions To Candidates

*

Put your name at the top of this paper and on each of the § sections that are 1o be
collected,

All 5 questions are to be attempted.
All 5 questions are of equal value.

All questions are to be answered on separate pages and will be collected in separate
bundles at the end of this exam.

All necessary working should be shown in every question IN PEN.

Full marks may not be awarded for careless or badly arranged work.

Question 1

3
A Evaluate \/\/zi to 3 significant figures. 2
20 +5
b. Solve |2X~6l§4 ‘ ) 2
c. Solveforx: 2x—4= x-2(6-3x%)+1 2

d. Fully factorise the following :
4. m? —n® +5m -5n 3

i Ix* +15%x-72 3

Question 2 (Start a new page)
a/ Fully simplify the following :

2% 2%
2

o ——
2ty? 3P +xy

w

a*+b® +2ab 2
a+b
b. Solve x* =6x-5=0 by compiéting the square. 3

c. » A projectile is fired from the ground. It’s path is given by the equatién h=10t—2¢%,

o where h = the projectiles vertical height in (meires) after any time t (seconds).

i Sketch the path of the projectile. ' 1
ii. For how long is the projectile in the air? 1
. it ‘What is its maximum height reached? 2




i

Question 3 (Start a new page)

a.

Solve these equations simultaneously :

4y -25=0 y+x=1'.

Solve for x :

11-3x

i (x-4) ==

i, (5-4x)* =64

Simplify the following :

i «/55+2ﬁ§-5ﬁ§
e (2/3-A5)

Question 4 (Start a new page)

a.

Sketch these graphs on separe{te number planes showing all important features :

i y=+/36-%*

o

ii. y=436-x

Find the domain #nd range for y = vx-2

Find the value of W in the following table if y = f(x) représenté

1. an even function. —

il an odd function. {

y =1
x | 5 | 3 4 3
y |8 [ 1 [ 14 [ W

d. A function is given by the equation g(x) = x*—6x+8,find:

i

il

gla—3). 2

all the values of x for which g(x) < 0. 3

Question 5 (Start a new page)

a. Find the exact value of cosec 45°. 2

b. The angle of depression from the top of a 12m building A to a person P on the ground
is 30°. When the person walks a certain distance toward the building to point C the
angle of elevation from the person to the top of the building is 60° .

iil.

A
P _ C B
Copy and complete the diagram with the information pro{zided. 1
Show that CB = 4+/3 . 1

Calculate the exact distance that the person has walked towards the building.
(i.e. find PC) 2

e Question 5 continued




C.

A ship leaves port and sails on a bearing of S70%E for 50km to another port. It then

turns and sails on a bearing of 020° for 90km.

i

1.

iv.

Copy and complefe the diagram with all the information provided.
Explain why 8 = 70°.
Calculate the distance that the ship is from its starting point.

Find the bearing of the starting poiﬁt from its final position.

END OF EXAM
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